Выполнить 24.09.20 до 13.30
Инструкция:

1. Перевести текст по теме: Климат (письменно)

2. Выполнить упражнение (письменно).
3. Запишите в тетрадь правило образования степеней сравнения прилагательных и наречий.
1.
CLIMATE OF GREAT BRITAINE

AND OUR COUNTRY

Western winds that blow from the Atlantic Ocean influence the climate of Great Britain. The climate is mild and strong frosts are rare. The January average temperature is higher and the July temperature is lower than in most European countries.

The coldest part of the country is the Highlands of Scotland. It is as frosty in Scotland as it is in St. Petersburg. In January south-western England (Devon and Cornwall) is the warmest part in Great Britain. There snow is rare and it never lies for long. In summer the south-eastern part of England is the warmest.

Britain has rain almost in every month of the year. In Great Britain the weather changes from day to day or even during the day. It may be sunny in the morning and it may start raining hard1 in the afternoon.

About 80 per cent of Russia is in the temperate zone, 18 per cent in the Arctic and 2 per cent is subtropical.

The greater part of the country is not influenced by the warm winds of the Atlantic and Pacific Oceans. There are no mountains in the north to protect the country from the cold north winds. Vast masses of cold air from the Arctic flow over the land and lower the temperature in the northern and central  regions of the European and Asian parts of the country. In most regions the climate is continental with hot, short summers and cold, long winters.

The tundra is a cold bare region, it occupies the extreme north of the country.

The lowest average winter temperature in the tundra is around 30°C below zero.

In the European part of the country the coldest months are January and February and the hottest months are July and August. There is often a lot of rain in autumn.

In St.Petersburg the climate is less continental, summers are cooler and winters are warmer than in the central regions of the European part of the country.

Siberia has a more continental climate than the European part of the country, winters are colder and longer, summers are hotter and shorter.

The Black Sea coast has a subtropical climate. Winters are mild and summers are hot there.

2. 
Exercise 1. Find in the text English equivalents for these word combinations

and sentences.

1. оказывают влияние на климат. 2. сильные морозы бывают редко. 3. В Шотландии так же холодно, как и в Санкт-Петербурге. 4. В Англии дожди идут почти в каждом месяце. 5. Около 80% территории России находится в

умеренной зоне. 6. чтобы защитить страну от холодных северных ветров. 7. снижают температуру в северных и центральных областях (районах). 8. в большинстве областей. 9. Самая низкая среднезимняя температура в тундре около 30° ниже нуля, 10. и самые жаркие месяцы. 11. менее континентальный.
3. (см.ниже)
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